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Instruction :

I (a)

(a)

(b)
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(1)

(11)

(1)

(1)

ENGLISH VERSION
Figures to the right indicate marks of the question.

Explain : Accountancy is the necessity while auditing

is a luxury.

Explain : Social audit. 7
OR

Give the difference between continuous audit and

~1

annual audit.

What is Audit Programme ? Discuss its advantages. 7

Choose the correct option and give the answer : 4

(1)

(2)

(3)

Which of the following statements is not considered a
limitation of auditing ?

(A)  Auditing is not useful for small business units.

(B) Generally the auditor’s prejudices are reflected in
his audit work.

(C) It works as a moral check of the employees.

(D) During the audit work, the regular business routine
gets disturbed. '

Which one of the following errors is considered
“Clerical error” ?-

(A) Not making an adjusting entry for outstanding
- expenses.

(B) Mistake in totaling of subsidiary books.

(C) Spending statement to the debtors for confirmation.

(D) Wrong allocation of expenditure between capital
and revenue.

Which of the following is not one of the objects of

“Internal Control” ?

(A) Detection of errors committed by the employees
and to prevent them.

(B) Detection of frauds committed by the employees

~and to prevent them.

(C) Improvement of quality ol goods/services provided
to the customers. :

(D) Adoption of accounting system leading towards
preparation of final accounts without delay.
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(4) " Which of the following statements is not correct in

respect of iternal audit ?

(A) It ensures that the policies, plans and procedures
laid down by the company are properly followed.

(B) 1t test the cfficiency of the accounting system.

() Duc (o this, annual audit is not required and savings
are made.

(D) Due to this, annual accounts arc preparcd quickly.

2 (@) (i) Discuss the provisions of the Companies Act regarding 7
dutics of an auditor,

(i1) Explain ; Auditor’s Lien. 7
OR |
(a) (i) Explain : Appointment and re-appointment of company 7
auditor.
(i) Give the qualifications and disqualifications of an auditor.7
(b)  Choose the correct option and give the answer : 4

(1)  Which one of the following is not correct in regard to
the rights of an auditor ?
(A) Right to receive remuneration
(B) Right to be indemnified
(C) Right to attend the Board of Directors” Meetings
(D) Right to get “Expert Advice”
(2) Which of the following statements is correct?
(A) ‘An auditor can hold audits of 20 companies in
casc where each company has a paid up share
capital excess of Rs. 25,00,000.
(B) In casc of a firm of auditors, audit of 10
companies can be undertaken by each partner.
(C) An auditor can hold audit of not more than 10
companies in a case where each company has a
paid up share capital of less than Rs. 25,00,000.
(D) If an auditor is a partner in more than one firm,
the number of companies which may be taken into
account by all firm in relation to such partner shall

not exceed 20,
(3) How many Lypes of auditors are there ?
(A) 1 (B) 2
(€) 3 (D) 4
(4) Main qualifications of an auditorare
(A) 1 (B) 2
() 3 (D) 4
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3 (a)

(a)

(1)

(ii)

()
(ii)

State the points to be considered by an auditor while
checking the vouchers.
How will you vouch the following ?
(1)  Collection from debtors
(if) Legal expenses
(iii) Royalty received

OR
Explain the importance of vouching.
How will you vouch the following ?
(1)  Insurance Premium
(ii) Cash sales

(iii) Preliminary expenses

(b) Choose the correct option and give the answer : **
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(1)

2)

3)

Which of the following vouchers is apprc)priate in
respect of share issue by discount by a company ?

(A) SEBI approval
(B) Recognized stock market approval

(C) Minute Book of general meetiu-g. for special
resolution of shareholder’s meeting :

(D) Central Government Approvall

Which of the following is a relevant voucher of
transactions of sales return ?

(A) Goods received note
(B) Correspondence with customers

(C) Credit note issued to customers
(D) Sales Invoice

Which of the following is not a voucher for cash
receipts ?

(A) Letter written by a creditor for collection
(B) Sales invoice

(C) Copy of receipt issued

(D) Correspondence with debtors

7
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& Give the difference between touching and verification.

(D How will vou verify the following ?
(1) Patents
(1) Forteited shares
(1) Work-in-progress
OR

State the duties of an auditor regarding valuation and
verification.

@ ()

() How will you verify the following ?
(1) Livestock
(1) Leasehold property

Choose the correct option and give the answer. 3

(1) Which of the following statements is not correct in
respect of verification of assets?

(A) The assets have been acquired for the business.
(B) The assets actually exist.

(b)

(C)  Any charge on business assets must not be verified.
(D) The assets are properly valued.

(2) Regarding verification and valuation of land the auditor
should not check the following :

(A) Whether it is burden or not

(B) Depreciation is calculated on it

(C) Tt has been valued at purchase price

(D) It is the name of client company itself

(3) Which of the following amount is contingent asset ?

(A) Discounted bills receivables

(B) Preliminary expenses

(C) Outstanding instalment on partly paid up shares
purchased by the company

(D) The possibility of the company getting some
amount in the court in the claim amount.
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